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Math 45 Handout for 1.4 Adding, Subtracting, Multiplying, and Dividing Integers
Objectives:
1. Add subtract, multiply and divide integers (signed numbers).
NGRS EOENED
!I ("“1“) + (”) ? quv\ oi;’%—' W\}G\ \wm%qm
(=) + () § labsobude valbue

Subtracting: Rew iy Io(;) add Ye aAddivire verse. of the numloe e lgel\/\a&\dukﬂw—czuke d.

Tt USe ytes -G addi Yo

G, —2-2 = —B3x(-2) =|—B|

Multiplying: (4.4 = (D
Xy = (5
) = E’)
XD = ()
Dividing: @ Iy (_.D —r > _ &\"ﬁ e
wmY BT® T o

2. Find the additive inverse of a number.
w . . N i
addiriwe wwerse = “"“‘mwa osiye”

3. In Math 35, we used mixed numbers. In Math 45, do not used mixed numbers. Instead use improper fractions or
“decimals.

Tnshead 05; —53‘:\:,) ’%T Wi Q‘\ wod onswer Wedre 3075 ev
Tnolead og X Yo varan Wﬂ\%?\afﬁ wse ¢+ ov (X ).

You should already know all of these problems from Math 35. If you are having trouble, get tutoring help right away from
ithe Math Center (room 426), the ASC (room 420), or Ms. Carey’s office hours.

.r:\ 5

Find the sum. N Find the additive inverse (opposite) of the integer.

1)46+(-20) = "b—10 =\ :;_;:%31 R =
....... 8) -9 @]

Find the difference. (Add the additive inverse.)
B 9)16-10 = ‘b4 (~10) ;&L
3) 65+ (-140) = — ((5+1490) = [~ 205 |
Find the difference,

10)3-14 = 2+CW) = =1
M 12-(-5) = 1245 =[]

5)5+4(-2) +18+ (-21) = 3+13 —a\ 12)0-(-10) = O1o =\\0]
= b

= {6} ) 13)-8-(-7) = —847 =|~1]

6) 17+ (-10) + (-6) + (-29) ) -17-(-17) = —7+17 = [©
= = (\+ 10+ 6+-a1) =

4)20+(-20) = A0-A40 = [‘Q
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Find the product. i Find the multiplicative inverse {or reciprocal) of the

1572 = -] number. ’E
5

23) 15
V16 = (6)-6) 1 [1]
=326 Divide.

25)«—1%*3- = 33+ 7= 28]
26)-%-;- = &) %(_,3) :EE?:L

L&
= O3 _16 b -8 = [‘?:I

:@ 27)"',@" -

= =150 | 29) 30+ (-5) = = el
Evaluate the expression. T
20) 1-491 + 30 absolude value 1 30) 104 + (~4) = Tl.FZL =+ 24
= 49 >3O makes e vesuli- —H
= {59 non-negahive.
S neneqelive 9
Solve the problem.

21) A deep-sea diver dives from the surface to
126 meters below the surface and then swims
up 11 meters, down 15 meters, down another
26 meters, and then up 21 meters. Pind the
diver's depth after these movements.

A ety Aestaham ™ NN (, [e N A P P T S N W W

Vb= -8 -2 21

= pTAm = — (1264185+26) + (1-21)

forvon \caom o= e =[] o [ e

22) Jared borrowed $264 from his friend Linda,
He paid her back $41, but then had to borrow
another $75. How much does he still owe her?

— Y + 1 —-75
= = (AMY15) 4 )
= —339 44
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" Math 45 Handout for 1.5 Adding, Subtracting, Multiplying, and Dividing Rational Numbers (Fractions & Decimals)

Objectives:
1. Add, subtract, multiply and divide fractions,
2. Add, subtract, multiply and divide decimals.

I S omions |

Nou should already know all of these problems from Math 35. If you are having trouble, get tutoring help right away from
the Math Center (room 426), the ASC (room 420), or Ms. Carey's office hours.

Find the product, and wnte in lowest terms, if necessary.
1 6 reduce by F

D15 35 \6 5 ( 3
- 2,2 G’:eglucrxbtﬂ_ 3)

(i»t) l"IcLQ 3= ‘é")
(5

23.52 = 244
44 Crea(’,nwz.b%,3)

= &
- G4
%
6 7 -2 7T (r b B
H-gx T TqE (recuce. Y- )

. =R r (r‘ecﬂi&@- b%’?-j
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L'

o - L

p2a (20 =
] e P ad , -H (reawub%*')
+ (p®5 - neg-= V\C@)

Qqeﬁ_n negz J_‘)CJSD

Find the quotient, and write in lowest terms, if necessnry

2 15 _ 13&. 4 ! muthk rec'@ram
O 7 ~ 1o 15 _——P——‘Sk ﬁriﬁchcﬂ
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Solve the problem.
6) If Sam spends % of his life exercising, how

many hours does he spend exercising each
week?
\us\\ftz)t;éeaaﬁ, Weelk .= hours 9
HDLU waany he u,r"f fn Bne weed”
:f’é( 2'“* SN Y s
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' 3
ﬂeﬁi b weirke answer with unils.
’ ind the recipmcal of the number.
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Find the sum or difference, and write in lowest terms, if 23) -2, 1 . 2 ¢H= 9
necessary. _ fbkmp b e Find 3| 9
3.3 _ -3 4.0 -7 v 3, ~0.3 4
() e B e lowes - S N N
48 Yed % = 33l o3 A
Covmynem (e .
= -k 4,'%, denominastoe (& D = ’%br - '?f * q
% oo N -
«-(?_-L:mf} P Ctﬁméhcq\\;\\ ~i5-342 = 1§42 = *__l{g
- "g - - N P . = ....’-'—E["*_‘" '_’—“’T—F 9
15) - - —| _ - —~ =Y
5 8 +[ 2]’: %—1— -Q‘I:E‘l— V\‘fm“‘ﬁ‘iaé?w Perform the indicated operations.  ise your (_a{C-mlﬂil?}f!
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= (K fegen donominadot | - [135 | ay TEL o [©
16 2 1 'S slens: Add or 25) 5.1 + (-5.4) + (-3.3) For reakivoy
)“?_E— e & = Bl — B B,D i e aoebiy &
. 2 13 e aorss = —03-33 = |=2el ber
B "ép_- '5_- 2 3 W laeat 26) 0.54 - (~
AP ) 0.54 - (-0.49)
o I T o3 = L ane - . = ©.5% 4 0.4
& o b ____cf = e e = T1.0%
17) —-1—-- S ew numneretioy”
B |64 e Connmen 27) -12.3 - (-11.5)
L e 5 OLgnew D = 2.5+ 1.5
= -ty 2 - e = =e. (
5% o4 = (unc | 4 = |~o6.8
. =% _ 5 . 85 = an shepb: Reduce  28) 49.1- 11.72 - (-6.3) + 15.48
é—tg G b L £inad resub = W -T2 6. 15 %
18) - - (IJ W I’lec-e:BSafa- :]mt
- i _ 29) 14.79 x 0.0070
> (=2 59 =5 ' = [o. to2%3
- b 2 - 2= | - T
=5 X :Li
5 30) 3.2 x (~7.20)
19) = - N END
5 = \ ~ 5. 0M
= B.05E —
B 15 Y 63832 o0 638,32
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